Roll No:-
Sem-V Diploma Exam 2023 (Odd)
(Electrical Engineering / Electrical & EC. Engineering ) (Theory)
[Time: 3 Hours] Microprocessor & Microcontroller (2020501) [Max. Marks: 70]

- All questions are compulsory. (H‘l-ﬁ gy ffard g )}
- Marks are mentioned on the right side of each question. (3/& T+t 7% & T3 3R 3ifdhd fHA ]))

Group (A) (YU -Q)

Q.1  Choose the most suitable answer from the following options. (1*20=20)

affie Sudad faweq H) g ford ) :-

I, The 8051 micro controller is of -------- pin package. (8051 Hlss:b\l cb't;\lcR - O Tt H1gral %| )
(a) 30 (b) 40 (c) 20 (d) None of these (378 I ®Is T8l |)

ii.  In 8051 which interrupt has the highest priority. (8051 H fh¥ 323V & UM Tdi= aadT glal 8)
(a) IEL (b) IFO () IEO (d) TF1

iii.  Number of I/O ports in the 8051 microcontrollers. (8051 HIZh] HgITR H --------- /0 UE B /)

(@) 3 ports (3 are ) (b) 4 ports (4 qﬁ) (c) 5 ports (5 mé) (d) None of these (EH'E[ | ?ﬁ"sc :@)

iv. The operating voltage of 8085 microprocessor is ---

(8085 HIZHIUTTR ------- & HaTeH dided! IR B &l g))

(@) 10V (b)7V (c)3V (d)5s5V

\Z The address range of SFRs. (TH.UH.HR DI Q%F BSie | % -)
(@) 80 H to FEH (b) OOH to FFH (c) 80 Hto FFH (d70Hto80H
(80 H ¥ FEH) (00 H ¥ FFH) (80 H ¥ FFH) (TOHI80H )

vi.  If we push data into stack of 8051, the stack pointer —
(8051 T I§ §H ST I TP W ¥ Hd 5, d9 Wb WIg<X -)
(a) Increases with every push (8% YR UR dedTl g )
(b) Deceases with every push (8X YRI UX Ycdl %)
(c) Increases and decreases with every push (8X YT UX Ycdl Td Jedl %‘)
(d) None of the above (3 Rigd & 9 ch\lsr =ITs°f)

vii.  Addressing mode used in instruction MOV A, B is —

(MOV A, B 3% H 8 TR Ais H Suai 8idr §)

(@) Direct (UH&) (b) Indirect (Qﬁ&f) (c) Register (€|§RE€) (d) Immediate ('gR_c[)
viii.  The total external data memory that can be interfaced to 8051 is —
(@ STEX! STeT HART Sl 8051 H STXWIE 8 b -)
(@) 32K (b) 64 K (c) 128 K (d) 256 K
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iXx.  Microcontrollers make use of batteries because they have
(HTZshIB-eIeR & §¢t T IUNT Eiell B, s FTH ------- B §))
(a) High power dissipation (3ff¥® 2Ifdd 3Uea)
(b) Low power consumption (ﬁl‘H Qe @ud )
(c) Low voltage consumption (ﬁ'ﬁﬁﬂ-l_q’ qud )
(d) Low current consumption (ﬁ'E[ YRTHEUd )

X. Lines in address bus of 8085 microprocessor are (8085 TASH DI & Qéﬂ (SR e = — SIECKG| g )
(a) 6 (b) 8 (c) 12 (d) 16

Xi.  The bit size of the 8051 microcontroller is (8051 HTShidhcleR o foic A ------ 2))
(a) 8 bit (8 fae) (b) 4 bit (4 fae) (c) 16 bit (16 fae) (d) 32 bit (32 fae)

xii.  The length of stack pointer in 8085 microprocessor is —
A . c
(8085 HIZHIUIR & TP Ulgex B AHlg - - 2))

(a) 6 bits (6 foQ) (b) 8 bits (8 fae) () 12 bits (12 fae) (d) 16 bits (16 fare)
xiii.  The control bus of a microprocessor is - (T% HISHITRIR BT Bl T ------ T g|)

(@) Unidirectional (b) Bi-directional (© Both @ & (b) (d) ane of these_

(e fer=fa (fex fe=ita) ((30) Td (@) <) EREREIEEE)
Xiv.  The RESET PIN of 8051 microcontroller is - (8051 HIZhIH-CITR H ----- RESET PIN 8T g))

(a) Pin 1 (04 1) (b) Pin 8 (fU1 8) (c) Pin 9 (T 9) (d) Pin 11 (09 11)

xv.  In 8051 microcontroller, which of the following is an external interrupt?

(8051 AIEHIm-eIeR H T & § YT 91831 SV 7))

(@) INTO (b) INT2 (c) Timer O interrupt (d) Timer 1 interrupt
(CT3TR (Timer) 0 cP) (CIEMR (Timer)l $cP)

xvi.  The register that provides control and status information about the serial port is —

@ifad Uid & IR § e 3R fUfS 3t TSR Ue™ H-A ardr IoReR 8-)
(@) IP (3MEUL) (b) IE (3ME3.) (c) TCON (Clehi) (d) PCON and SCON (Gt ¥t 3if9 Td T3 3t 319 |)

xvii.  In 8051, opcodes that access external memory always use —
(8051 H, STt AHRY A UgeH aral 3TThTS THRI IUANT HRd &-)

(@) Indirect addressing (b) Direct addressing (c) Immediate addressing (d) Register addressing
(UTE Qéi%ﬂl ) CR]

xviii. In mode 2, the band rate depends only on —

#rs 2 § 58 R pad Rk Bt 8-)
(a) SMOD bit(TH TH 3l St fdc ) (c) Oscillator clock frequency (TR Tat 3Mgf)
(b) SCON bit (d) SMOD bit and Oscillator clock frequency

@1 e (TH T ot €t e siffRrder agt sgfi)

XiX.  STA 9000 H is an instruction of - (STA 9000 H Teb FIEZI 8- )
(a) 1byte (UH SRS HT)  (b) 2 bytes (& TRE PN) () 3 bytes (AT SRS DY) (d) 4 bytes (AR TTEC P1)
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XX. A high on pin which resets the 8051 microcontroller is

@191 3= fo 8051 I R HaT §-)
(a) RESET (b) RST (c) PSEN (d) RSET
Group (B) (39 -
Q.2 Discuss the evolution of microprocessor in brief, 4
(FTSHITRRR & faHr o) Tearg & qui &3 |)
OR (Sf¥YdT)
Explain in brief the features of microcontrollers. 4
(ATRHIBCIaY Pt [ARudTel &) &g & e & |)
Q.3 Compare between microprocessor and microcontroller. 4
(@TSHIYNIR Td Highldbclar & aid ol & |)
OR (SfYdT)
Write down the differences between volatile and non-volatile memory. 4
@dicsd HAR Td 9 didergd HaRl & &l & SiaR &I ford | )
Q.4 How many interrupts are present in 8051 microcontroller? Describe in brief. 4
(8051 ATSHIH IR | foha 3expq § | & H aula ¥ | )
OR (31¥YdT)
Write the different addressing modes of 8051 micro controllers. Explain any two of them. 4
(8051 HTSHIDHCICR o Al TgRIT A8 &1 A ford | 379 ¥ fohg! ol IR Sare a1 |)
Q.5 Write down the different control pins of the 8085 microprocessor and discuss the use of each signal 4
pin.
(8085 HTZHIUIIR & [afid el Ryt fU & = ford ud vdes et foF o ST &1
quF & |)
OR (3{YdT)
Write an assembly language program that subtracts 40 H from 50 H. 4
(3T oSt UTH &1 foRd S 50 H H 40 H 9Tl 6 |)
Q.6  Explain the following instructions in 8051 micro controllers: - INCA, SCON. 4
(8051 HTSHhIdhgler o FHfafad &@ﬁ(ﬂ%ﬁ -INCA, SCON.)
Explain in brief different power saving modes us:(ed in 8051 microcontroller. 4

(8051 HIZhIH-CIeR H SUANT H 3f-ard A UiaR sad AI€ P G o TReAT X | )

Group (C) (gq-iﬂ)

Q.7 Draw and explain pin diagram of 8085 microprocessor. 6

(8085 HTZHIVIRIR & U 31 &l Tid Td ARAT ¥ | )
OR (37YdT)

Explain the architecture of 8085 microprocessor and its operation. 6

(8085 HIZHIVAR & 3Mfcheaer ! Wid Ud 3! HIAYUICH &1 STRSHT B |)

Q.8 Draw and explain pin diagram of 8051 microcontroller. 6
(8051 HTSHIDHCITR o U W P! Wid Td SHD! TRAT B |)

OR (S1YdT)
Compare CALL, RET, PUSH and SBUF instructions with examples. 6

(SGTGRUI & T CALL, RET, PUSH Td SBUF fE=IT &1 o1 Y |)
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Q.9

Q.10

Q.11

Describe the serial communication in 8051 microcontroller.
Q o C q
(8051 HTShIh-gleR B HIRTU HRIABRM BT qUH Y |)
OR (3{Ydn)

Explain the architecture of the 8051 microcontroller with a neat block diagram.
i\ Y OoC N = J
(8051 HTSHIDHCITR b JHTfchcaeR hl Wwd scllch HRW o 1Y RS X |)

Discuss different versions of microcontroller with their specifications.

(ATEHIHIeR & AT TR BT I A & 1Y RS B |)
OR (31YdT)

Describe the 1/O port pins and their functions in 8051 microcontroller.

(8051 ATZHIHIER H 1/0 TIC U Ud I HII &I qui- &3 |)

Define interrupt. Write down and explain all the interrupts associated with the 8051

microcontrollers.

(EeRP I R H | HIShIm<ier ¥ o Iyt Sy &l ford Ud s s &1 | )
OR (3{Ydn)

Write short notes on any two of the following-

a) Harward architecture b) SFRS c¢) RAM and ROM of 8051 architecture.

(FraferRed 7 9 gl & W fére fewoft ford |

3) RIS AMfHeamR &) SFRS W) 8051 HTShId—<IcR & RAM Td ROM)
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